Subject: Re: vzplit bug?
Posted by daaz on Thu, 09 Apr 2009 18:15:36 GMT

View Forum Message <> Reply to Message

Thank you, maratrus. But, it seems to me that something isn't right if you get the same config for a
container supposedly having 1/2 the resources of the hardware node and for one with 1/5 the
resources. | ended up by starting with the config generated by "vzsplit -n 6" and multiplying most
parameters by 2 and 3, respectively, to get containers with 1/3 and 1/2 the resources of the
harware. | did that for all parameters except NUMIPTENT, DISKSPACE, DISKINODES, and
CPUUNITS. Hopefully, I'm not doing anything terribly wrong.
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